Problem of the Week, Fall 2006 





5 October 2006

Cadet Wrieden, Jonathan S.
Problem 5
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A man lost an important paper, bearing some numbers he had worked out. He later located the paper, but some numbers of the very important division process became illegible. However, he was able to recover two numbers, 8 and 0. Can you help him reconstruct the numbers for the division process?


[image: image2.wmf]XX

XX

XXXXXXX

XX

8


  -XXX

      XX

     -XX

       XXX

      -XXX

         0
First, I let a variable represent every “X”.
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Then, I simplified the equation in terms of variables by making logical assumptions, such as CDE has to equal NOP. (highlighted marks represent changes)
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Here is where I actually began to solve the problem. I established relationships between the variables using inequalities and systems to simply figure out exactly what the variables could and could not be, and then I solved for the numbers to represent these digits that fulfilled these constraints.
For example:

(LM)(AB) = CDE



K = 0
(K8)(AB) = FT



AB = 10, 11, or 12
(J)(AB) = UHI



A = 1
I just continued this logical process until every variable was solved for.
NOTE:  A term such as AB represents a two-digit number, NOT the variable A times the variable B.
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